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N & o & AF & H A A
20178 & =04 LBHSIH SUS
22X sUS
M SUls AMEE
Sl FOINAME HASY L BMOAL S CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
SUHsS 389,056 363,326 25,730
SUHs AHZ I 246,000 213,700 32,300
QIRXIEEH WaA2E ¥ HAANEXR 156,960 124,660 32,300
FOXXHEH2H 88,300 88,300 0
201 L2l 15,300 85,300 A70,000
01 At 22l 15,300 85,300 A70,000
OHH=2Y LBt==EH| 6,300,000& 6,300
O+ 9,000,000& 9,000
301 L2 LS 73,000 3,000 70,000
09 HALAHIE& S 3,000 3,000 0
OFUNXFALNE A2E L LTS A8
100,000& *25% 2,500
Oztgsl S &l 500,000& 500
1MIIEELES 70,000 0 70,000
OZ A=Y 70,000,000& 70,000
FOIEOALEX&A 50,260 36,360 13,900
201 £B-2dH| 35,060 34,160 900
01 At 22l 3,260 0 3,260
OFARIHIANAE 92 155,000& x 128 1,860
O&E A BIE EAHI 1,400,000 1,400
02 3323l 31,800 34,160 A 2,360
OXg s Xl (2th) 8,000,000& 8,000
OAtR 4 2teltl 1,800,000& 122 21,600
Oduedl X2l (ME ) 2,200,000& 2,200
203 H R =&l 2,200 2,200 0
03 AI®F=XH S Z=ZH| 2,200 2,200 0
OsUlis SELIRAMF 2,200,000& 2,200
401 A& BIZ 28I 5,000 0 5,000
01 A& HI 5,000 0 5,000
OZZ A& (LED) NS B AH(37I0)  5,000,000& 5,000
405 XHoHF S HI 8,000 0 8,000
01 XL 2 S FH S| 8,000 0 8,000
DRANE SRAD DY 29 &3
8,000,000& =14 8,000
ARlste stOtS M= El 17,000 0 17,000
201 Let24d] 17,000 0 17,000
03 A2 S HI 17,000 0 17,000
OAl2lste stitg Msal 17,000,000& 17,000
SEE XY FA 1,400 0 1,400
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202 o4 4 1,400 0 1,400
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Scletdas24XH 89,040 89,040 0
301 gEtE &= 89,040 89,040 0
058 -0 -tE3Es24s 89,040 89,040 0
osg¥=¢g 200,000& 23 »12& 55,200
Os&do=s 200,000& »23& »23| 9,200
OS¥IAFH Y 20,0008 x23& +22| « 128 11,040
ot &=l 50,0003 »272g » 13| 13,600
HY2LIH(SUS) 143,056 149,626 A6,570
AH2HH(SUS) 60,496 60,496 0
AFolHH(BUS) 60,496 60,496 0
101 1248l 60,496 60,496 0
03 RINAAL=22XE = 60,496 60,496 0
OFA2CIEELRY 32,835
-Jlz3 1,167, 7503 x1Z 128 14,013
& 0= 1,167, 7503 x1H x4 & 4,671
-2l =g 9,940« 1H 224l 2t+ 128 2,625
-s22f=+9 79,6003 x1E ~2& 12 1,911
-F5=g 53,0703 »1H «b2= 2,760
-HRERIteE 53,0703 x1H x10& 531
-Jtet= 1,167,750 » 1 122 «12% 1,682
-HAZ A 80,0003 x 1+ 12& 960
- S22 X 60,0003 x1H 128 720
-HEF0t 1,167,750 «1H «2& »60% 1,402
-t EE 130,000& 1&g 123 1,560
OMREZIERY 27,661
-Jles 982,180 »1&H =12 11,787
s 982, 180& 18 4 3,929
A2t =g 8,370 x1H x22A 2tx 12 2,210
5222 66,960 x1H 2 123 1,608
-5+ 44,6403 x1H #5623 2,322
PN =P S 44,640 x1H «10L 447
-Jtet =S 982, 180& 1 128 x10% 1,179
- g Al 80,0003 x1H «x12E 960
- SE2 X 60,0003 x1H « 128 720
-EE2F0tl 982, 1802 » 18 »2& «60% 1,179
-bEsg 80,000& x 1« 128 960
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